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Instructions: This exam |Ie3 in two parts: Part | is to be completed partly at home using the materials
posted on Blackboard for Part | and you will answer questions about \y\at work in class below; Part Il is
to be completed entirely in class. You may not use cell phones, and ydu may only access internet
resources you are specifi(::ally directed to use. You may access your data file for Part | of the exam in
Blackboard. You may access the data files posted to Blackboard for th% Exam part Il. Be sure you are
using the data file that matches the exam version you are given.

Part I: At Home ‘

This part was completed %at home. You can upload the Excel file for P#rt | to the Part | folder in
Blackboard for use during the Exam period. However, this submission will not be graded in this location,

it must be submitted to the “to be graded folder” to receive credit.

1. Use the work do?e at home to answer the Part | questions. |
2. Openthe file frorln the in-class portion of the final posted on qiackboard that corresponds to the

version of the exEm you have. This is Exam B.
3. Answer the questions corresponding to the data file, and anyﬁadditional calculation in Excel
required. ! {
4, When you have finished answering questions on the exam, afd all your answers have been
recorded on the | aper test for grading, upload both the take home Excel file and the in-class
Excel file to the same in-class Exam folder in Blackboard for g ding. Only those files submitted
to the correct folder will be graded. (If in doubt, put all workjin one Excel file.)
5. Turn in your paper copy of the exam to your instructor.

6. Enjoy your break!

Part Il: In Class
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Part lI:
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12. A 95% confidence interval is calculated from a sample size of 104, and it is found to be
(83.7,119.3), for the mean speed in kilometers per hour onla certain road in Canada. What is
the point estimate at the center of this interval? What is thd standard deviation of the sample
from which it was drawn? [Hint: use the confidence intervallformula at the end of the exam to
solve for ¢.] (10|points) \
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13. Calculate the probabilities associated with the following z ar‘f t values. Round each value to 4

decimal places. I(4 points each)

a. P(z< -0.53)

b. P(z=0.72]

c. P(t>1.16,df =2)

0.1829

d. P(t<-23,df =130)
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14. Using the data i|1 310examldata.xlIsx file, calculate the prop@rtion of families in the sample with just

one-child- Use that proportion to determine the sample sizelneeded to calculate a 95% confidence
PMM{’W(Z)< interval that has only a 1.5% margin of error. [Hint: Sample Size formula is at the end of the exam.]
(8 points) '
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15. Using the data in the same data file, calculate the following:
. Create a pivot table displaying Married and Rent/Own.
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stween the two groups. Test your answer with a graph and describe your test.
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Standard errors

Sample sizes: n

Confidence intervals:

One sample:

2 2
Two samples (independent): (X1 — %) + ta/an-1 ’;—1 + :-1—2~
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